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1. Thereis nosuch x-value.

2. x=-3.

3. Thereis no such x-value.
4. a=3.

5. a=0, b=-2.

6. Thereisnosuch x-value.

7. There is no such x-value.

8. x=2, g—Z—I—kﬂ (ke Z).

9. x>%6 but x=%6°+6,0r, x<—86 but x=—%6°+6. That is, the set
[8/6,00) —{8/6° + 6} U (—o0,—/6]—{-%/6° +6} .
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https://www.youtube.com/playlist?list=PLKJhYfqCgNXjkwxSf-xDV47b9ZXDUkYiN
https://www.facebook.com/HeLoFriend.JangGe
https://www.youtube.com/playlist?list=PLKJhYfqCgNXj5enD9Il6hP5hom2ZSJ30V
https://www.youtube.com/playlist?list=PLKJhYfqCgNXj5enD9Il6hP5hom2ZSJ30V

